Exercice L :

L. A U ’(:N(w\ru‘eau, aLt - veace. :

o i de  Swell -Descarkes pev’ b ﬁﬁﬁcm‘\ z %&m
e

Sur £e

i S'V\(L) = Nene - S;V‘(Cz) scVema

avee Us woleWions de L 'swond
Ein (i) o A . S (Ca> W)

Al C-A'\fcxfia(e./ve/(re,‘—- L~ 2

nisin (i) e=— SQV\U—I)& 2)

" Bu combinask @) 4Q) E
Ly SC\ALK) = in(il) = kl-: = .(.’t

P (ayon de Sorke
UA PCA OLL WVML“& s Pan‘é& y AL rv:./o»\
v daus 5 Ln“wlf& T,LLK (-c_:\a.‘ﬂu\ ) A ‘el -

- oy I:;K i HC{LL > [d -1 “) “"(Lﬂ
® Aans Q& \rr{wdza, T{Y’ ("CC\’“"XL en S)
ban (i) = e e —:‘(ﬂ. = €. hw(‘—l

Ta s

) Clav\,s eL h{akcgg‘ MIP_K (rtL\ﬁ{'(aa (V%N M) 2

B li= MI”“:_':),

”_—> d_ = € (L‘aw\(i) — &aﬂ,(i.z)) x C,DS(C)
o foncion e Sin@)
d = e (si,n(a) - 2‘%5)"‘ co.f.(»)

LCS(Lz)
‘ﬁ
d= e s (4 - e )
' L (a.rcs m(’i— x Sw\(c.)))
62
AN_'. d /i— S o /(D m — Ag WAV

Sl

Q‘Ei LIO(DBQX QFFQW\'Y‘L\ sawns C{Z»éorm«:’s‘/{cn wiaa S Alcaﬂ@a’ de ’175 M



